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12. What is Bio-medical waste? Discuss the health

problems of Bio-medical waste. 2+3
13. What is soil pollution? Write the importance of
environmental ethics. 2+3
14. Write short notes on : 2Y2x2

(i) Biochemical oxygen demand (BOD).
(i) Thermal pollution.
C. Answer any one question : 10x1=10

15. What is biomagnifications? Write the difference
between biomagnification and bioaccumulation. How
can biomagnification affect humans? 2+4+4

16. What is G-force? Write the physiological effects
and preventive measures against G-force. 2+4+4
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12. (i) Write down the importance of milk in diet.
daily

(@) Discuss the role of dietary fibres in our
it 3+2

nutrition.
13. Discuss in brief about cause and management of
thalassemia. 2+3
14. What is sound pollution? Write down the immediate

and long term effects of sound pollution on human
health. 1+(2+2)

C. Answer any one question :
15. () What is ART?
(i) What is the principle of family planning?

10x1=10

@) Describe the different methods of Birth
Control. 2+3+5

16. () What is hypertension? Write down the dietary

intervention of hypertension.
(i) Write the principle of formulation of balanced
diets for lactating mother. (1+4)+5
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(c) sample
(d) population
(e) Kurtosis
12. Discuss about standard error of mean and standard
deviation. 5
13. Write a brief note on Student’s t-test. 5
14. Discuss briefly about linear correlation and linear
regression. 5
Group -C |
Answer any one question : 10x1=10

15. Compute mean, median, mode for these following
data :

10, 20, 30, 40, 50, 60, 70. 10 |

16. Draw and describe a normal distribution pattern.
Write about its significance. What is p-value? What

is standard error? 5+2%+2Y2 |
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